tﬁtt!!.‘tt b L ALY A I Y]
.

E ! 3 — digit Numbers
.

! ]g;nmglm:
ﬂ} lm 3 zm]' 5 3m R T —

¢) 100,300,
ddten+bten=......te¢
4 2ten + 8 ten =.........le¢
f)...ten + 5ten =10 ten

g) 3 ten +............ = 10 ten
h) 5 hundreds + 2 hundreds =

"""""""""""""""

iiiiiiiiiiiiiiiiiiiiiiiiiii

AR ARRRARAARAR AR RA AR R A AR RS AR e n ...

............................

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
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Unit , Tens and Hundreds

ae tlhl'_'lq-.,'-.-q.t.- %

\

\

- L

\

B

‘

™~

E

ﬁ

d

62

@
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L
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.
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‘-'..“.‘__.‘.ﬁ-_‘hnlqql_mi.htttlﬁ.tl‘l,'-.'.'.'-'-"-."-."-.'-'-.';'..'-.",-, I‘:‘
E we_&hmrm_fhu&l—“ n
N
E’]mngﬂudmds,JTms,ﬂlJnil:. :
 p) 624 = — Hundreds, — Tens, — Units. "
. .

LA
}_‘}gnan_—ﬂnndrnds.—Tens..—Uniﬂ. s
by .
e ) 670 = — Hundreds, — Tens, — Units. :
“7) Find the place value of 4 in the following number : .
by .
DR 7Y 724 492 ,
S + ¥ .
L

L}
O O O 3
iﬂ Find the value of 7 in the following number : ::
. 379 157 472 .
. v N w -
o .
Y O3 ) J :
a 9 ) Choose the correct answer : - .
:: a) The greatest number formed from (2, 5, 3) is: .
.:: (352 or 325 or 352 or 235 or 253 or 532 or 523) .
. .
+  b) The greatest number formed from (3, 2, 0) is: &
. (320 or 230 or 203 or 302) =
. .
y L1
o ¢) the smallest number formed from (4,5,2)is: -
~ (452 or 254 or 542 or 245) =
. -
. y :
s d) the smallest number formed from (6,0,3)is: -
. ( 30q0r Gigprighor 36 .
: :
:t[qttnmgtqnttttttti*'*w‘*-iﬂllﬁrtﬂ‘ltWEl?&';



t,qi.,l.i.l..tl-.l-.tl.i. aLasasfafsssss “‘“‘..
"

*3 Hundreds, 8 Tens, 5 Units = BB =385 }

*8 Hundreds, 9 Units

D00-—

y F—
+3 Hundreds, 4 Tens, 7 Units =

l‘
+ 6 Hundreds, 8 Units

.
TR ; tgtt:
: 0 £ :
. .
. __ = \
3 Hundreds| Tens | Uni :
:':l]' =0+ 40+ 600 = — ::
: ' :
b == St et m3ny v
.E L]
‘1 +—+ b,
.ht s E — L]
N 8 2 5 :
:-.d} =T+50+200=— L
| E— .
. — ——= )
o) - :
. .
. N .
:3 % = i o ;
= + 30 +5=2835
23)8 Hundreds, 3 tens, 5 units = 800 + 30 ) :
‘. i - +riilil-l--ll-l'l-' llllllllll RN Eas “.
:a]zmd:ds.ﬁm,lmh PTRT— N
::]Tl-huﬂmh.ﬂ'lﬂﬂ.'ﬁlﬂﬂu‘----mmm+ ............. o TIT LTI _ IAEER A :.
- = ',
}‘dljmgm?miu? ...... e it = :
tuliw’ 4m‘=-+Il'il]ll---ll-+‘ii‘ll“lfl-!-f‘l-ll_ ------------- ::
." Ld
:f]ﬁw.zmﬂliiilquynl alanERdRERREEES EFEEERRFEERFE RIS 3 E:
::}9M| E’mnll“ililﬁliﬂl+!!! lllllllll —-l‘ii ----------- L] ::‘
. .
. .
* 4)Com as shown in the example : :
"
. .
’,
)
0
L]
"
.
L}
I;._
L]
o
"
)

.
. \ -
.
"
L]

Glecdall s Cf)
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. \ ;
+ 2 ) Complete as shown in the example :

Py

. The number |Hundreds| Tens Units

" 718 7 1 8

:~_ 523

:1 694

:: 3 4 7

Py 802

.

o,

"

L

T

~

:: 1 )Com shown in the example then read the number:

The number |Huondreds |Tens |Units Reading the number
i | Three hundred

SRR AN RS R SRR R SRR RS RARA AR AR AR AAR R AR RN RN R SARRNRANNS

twenty six
.i[ 594
4 « |uls
1 278 '
1 7 | 4
+4) Complete in the same sequence:
.
v [38 [319 321
.
3 325 |35 345
.
: 605 |615 645
.
- 800 | 790 160 . $
: oaalloteaall 63
. o
¢ P > --l.‘ _EI--. = r LA
t-l,'..-..l.l.-.ﬂl.i_-.l.l.t".'.l. -it:-{.i-{!\iilhﬁ-!{ -.'l-ff -&Q":Hl,tuttt



.‘.‘.‘t.‘.‘.‘i_l,l.i."l'!.'-.'..l.. e .‘..'.‘k.m. :
et |

'.-.l.'.-.'.'.','-.th.ll.-.'--

. a) Give three numbers between 466 and 476:
:: - ....q.--t-l-iul}

: {I"I-Il"“‘l"“"" 25‘4.
i b) Give three num bers between 245 and 254:
5‘.‘ {liun-"d-ﬂ T LI ] H’"'*"“""}

% ¢)Give three numbers between 934 and 945:
-:; {,"”""1 T T T T L 2 —irn--uﬂ-}

Py d) Give three numbers between 521 and 527:
E: {liiliinﬁ.!ii"ﬁiilllliilﬂ lli"ll!i.ﬂ}

:: ¢) Give three numbers between 384 and 391:
-

:: {-nn-ur-' R Hm------—}

E-: f) Give three numbers between 726 and 732:
:: { ------ ey FREREE LR RN ] lllillllllllll}

‘1.

by g) Give three numbers between 269 and 277:

11) Complete:-

In these numbers, the three digits are consecutive:
Iu L] H“' B EREsaE e ) Sednabemes ) s sEsEs e ) SRmEEES LR m-

In these numbers, the three digits are consecutive:
31'1 ‘43:-’ L 1 & P e k] Ii_‘mli

Ry
g T B il o S R R R R e e .J_..-'_r-

L

.,.

«. In these numbers, the three digits are equal:

E 222y wevinmrinrinn y 44 ., 666 puasasiiies s BBBiis
. £

[ ]

L]

e i ¥
.. l""'-'-"~'='~"~"~""-"~"~"~"J-t‘,"."».-.tt"t.i‘-mtl. SCTLLOLEE S



aq QA AAALARARARAKARARARR s e, “.
« 12) Complete::

---------

''''''''''

t;} The greatest number 3 -digitis ..........
.“]mmllndnmbarﬁ digitis ......... .

1.51 The smallest number formed from 2 - ~digit8and 7is ...
« 6) 9 hundreds, 4 tens, 6 units =
.

-------------

............

L

*40) 4 hundred,2U,3T=....
£11) 10 Ten=........... hundred

L

::12} 2H+............ = 800
:13} abk ASEEAENN tﬂ-m = T huMm
.

P
R -,.n-.-,s-.-,-,n,-,-,-,-..-,-..-_-.-,n-.-,-..-..-,-,-,-.-,-.-, .

lllllllllllll

''''''''''''

li!] The number 100 lies between 101 and ..

+20) The number just after 89 is
5:21] wireeseenne. 16 1e2d as two hundreds and twelve
:.:H}Wﬂ+ 100+ ........ =600

5:13} vereeses UNts = 65 tens.

+ 24) In the number 863 the value of digit 6 is

.
. 3 E
Q LY
.
.

iiiiiiiiii

iiiiiiiiiiiii

sssmmmpaEmEEEERREs.
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L]
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sasassasasssanassnAsL LR LSS AR 0 00, ,,

. . .

: Adding Hundreds with re-naming :
. .
:‘Enmggz Find the sum of 527 and 286 :
. oy
-
*ADD UNITS ADD TENS ADD HUNDRED § =
w A 1 : .
- 527 527 527 :;:
: 3 13 813 )
:: dd:- .

.‘
':: LR :
ol 742 2. 45 3. 263 4. 281 =
: +134 + 539 +525 + ﬁ!!I E
a .
. .
:l -

LY
5. 174 6. 7683 | 7. 104 8. 814 o
o 1605 +236 + 685 +175 &
. 3
o —t
ey .
ny .
9. 238 10. 234 1. 275 12. 234 o
s +361 +£750 +32 155 3

w
3 :
< )
213, 491 14. 358 15. 745 16. 765 E
o 207 +631 + 134 +104 .
: :
- .
<17. 220 18. 260 ~
g o - (;&LMMUl c[}?
:: L f.{."{.l'.a’. e Llf.l’fe’—l {.f COT
:tﬁtttﬂtﬂﬂﬂtﬂttlﬂﬂlﬂltttﬂﬂﬂﬂtﬂ&thtﬂttthtttnmﬂ
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L
. Subtraction with re-naming e
E Tens only E
., e: subtract 218 from 753. .
:_E_% HTU ::
L) 4 13

.
. 753 We cannot take a way 8 from 3. 753 :
s 2318 w918 .
: We borrow | ten from 5 tens 535 .,
. So,5 Tens3 Units= 4 Tens 13 Units .
. .
+Sub ",
. 961 2. 842 3. 674 4. 586
s =137 =729 -346 -458 o
A .
. .
5. 495 6. 337 7. 758 B. 463
E -266 -118 -629 -344 :
. .
LS LS
LR .
9. 726 10. 974 11. 642 12. 581 <
S =517 -439 -528 -256
. Py
. .
. .,
- LS
. .
3.443-119=...... 14. 732-119=..... ,
L L3
LS -
e .
ﬁls.aas-519= ..... 16.493-238= ...... :

)
. :
«17.88) -466=...... 18. 554 - 346=...... :
l.
LS
! @mladeLkmU‘, ?
"

Lhesssasanasnns s ENTANCAENIATNAELR OO



t.‘.At.~-_-,_l_-.,l..t'.',t.l.t'.'.t'-.lh'.'.i.l.l.'.'w.tlt'..i.ﬁﬁ,._.__‘.‘.
.k ) L]
*4) Find the resulf :-
-
. 453 509
« 8) 623
-+ 9 + 5
. +385 +239 +275
-I"
-
> 235 378
m-rggﬁ +125 +425
115 379 347
:]",'344‘39" .........

:

..

‘I

.

.1.

L]

.

.

.

.I

.

]

.I

.

.

.

o

.

Find the sum of the numbers 325 and 126, .
itdﬂ::n:m of the numbers 165 and 256, q
ﬂamﬁndmcmufﬂmhmrﬁults. :
The sum of the first numbers = ............. :
The sum of the second numbers = ............ E
The sum of the two results = ...ccvvvvanne :
:

.

.

W,

"

i

o

[ ]

5) Circle the closest number :-
a) 453 + 249 (600, 700 , 800)

b) 346 + 232 (500 , 400 ,600)

¢) 106 + 315 (300 , 400 , 500) .

i,
N

d) 294 + 466 (500 , 600, 700) . a
w&u@%m)t@;

s WLTW. EXATT-E. COMN
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.
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‘lttt‘“ttﬂttt“ttttﬂt*tﬂﬂﬂ‘Eﬂlﬂtt&tﬂ&tqtqqqml
& 4 - : :
w]. d:- 1 -
: :
2523 +359 = 3174143 = 234 +523 = Q
4351 +a43= . 398 + 40 = UEeas.. &
.
:Iiﬁ+311-.... 5[2.;.3?&: 214""529“-" ::
: 2
w2 Add:- t
. . -
. : 2
. 344 636 | 476 [ @37 | 33 a
:’_ 216 _+_u,z +252 +314 +514 :
. :
o -
. 609 561 457 193 248 &
. 4142 | 4263 | +434 +132 | _+355 .
: .
- -
. 577 344 125 274 601 N
:: +413 +518 +648 | +155 +379 &
. R
Py .
Py .
. 3
+3) Complete:- :
. LS
-
:33?+....=549 282+ ....=992 114+ ... =489 5:
: :
L
... +114 =646 oo + 261 =662 ~t23=679 %
\ :
. .
“462 + ... =887 337 +....=759 U‘ .
. bwa R
3 (,mbu.“u U
. T LT E2X Hf—.{? COTFr : .
:‘,-_g-,gn,_.,tt.tti,t!.ttttlﬂ!igttttt ST -.-.-.-.-..t-hﬂ .



ane l_-.,l.-...“.-.-..-“.'-..u.'-'.-'n"q.n.-....q'q-u-u'..‘.'l.,l‘-_ “ua ..
LA S L

nesann . .
: Zeroes in subtraction :
s .::
+Example: Find 600 .
& -m.,-; We can't subtract units :’
. —
= .
. 3
. 210 Ll
:: 510 ::
: = T 6

Esmpl We borrow | hundred: EH'«;L::_:_ :'; S :L?Li $
+Step 2 Weborrow 1ten: 10T e -:
tSttpS We Subtract: N
N 4910 o
- : . = TIOU 600 =
*We can do steps 1 and 2 in one step: 6 H SHY L .
- 426 o
. .
:thtrlni :
iy .
EEI. 600 2. 900 3. 800 4. 700 3
* -463 -386 -458 =123 %
. .
. .
?“ 8 900 E
*5 300 6. 400 7. 200 -
« -235 -391 -164 =781 &
s .
.. .
- .
& .
- .
: 600 11. 700 12. 400 =
=9, 800 10. . .
. -639 -3157 -412 -249 .
s .
e .
. :

: oyt el
. ?8
.

sesenennennnneese sl LIV G NS Ua€efs COIM s )



L e ]

*ltlt

E Subtraction with re-naming
. Hundreds for tens and units
LS

o

srcample: Find 741 =

\3

mmmm e ..

-368

11;mbamw1r.=n
i Then subtract units:

Step2 we borrow 1 hundred
then subtract:

R R R A R R R A R A A R S R AR s s n s s s NS s p s e n PP A SRR pRRsapsRassRars

(]

: 4T6U=13T16U . SH3T=4HI3T
E 413

. 316 £3 [

$. 379 3%

. - 279 -

. 7 267

.-.

.

Y

+Sub

31.‘323 2. 732 3. 941 4 775
t 269 -458 - 694 -289
"

E_

‘5. 526 6. 813 7. 935 8 647
E:ﬂ -584 - 658 -468
N

-

: 10. 656
:1353 , s
o= 287 -487
;T ,L;.—i'—_'.;fi;ﬁt%-%ﬂi—- e ————— ""'".f"\
::- .. n‘q‘-1I,‘i‘l""_‘..'-.i,.:':;':l'.'q.-"‘.'-

.".|*'|..| .|.'|‘I.- ._ .l-\..‘- ._ .-..h..l-.'l '_' -I .'.‘1 .‘.1 ..,t-u. .|.



L T L

."-.l.',i‘.h.‘
. " ’ g |
"y Subtraction with re-namin "‘
o Hundreds only '
. '
!
« Example: subtract 165 from 947. .
" !
e HTU ff” n
4 "
. 947 We cannot take away 6 from 4 947 o
. -165 . =165 4
o 2 We borrow 1 H from 9 H 782 o
2 So,9H 4T =8H 14T .
. )
.L
:.;mﬂ e X
1. 829 | 2 539 3. 987 4 714 3
E =36 -448 =695 =272 .
. .
=
5. 623 6. 758 7. 649 8. 935 :
. 462 =294 =562 -772 .
. .
N \
29. 648 | 10. 817 1. 226 12. 839 :
< =233 =362 -183 -596  *
. .
~ N
ﬁ
.
a13)532-291=,,.... 14)779-493 = ... .
: .
. )
. .
:Ii1353—1?4=s ,,,,,,, 16)619-592=_ -y
. .
A17)728-397= 1999 3R L1232 ) .
Py ot A e i s
aaac CLEL T . COMM X
B LU T AP A o
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Jofs

L CONR A

Number of sides
4

L

LS

K. EXAH
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Number of vertices
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.
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3) Write the

iorsereanerss)

"
*.¢ Jthe point which is not 00 the FIY B8 ...oovseisees:
LN

oasl=llplecall
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en curves and closed curves

= -

=
"
5
-
H
1
&
i
==
=
T
s
#
*
n
w
-
&
=
w
=

f-'-l-l-'-'-l EEEE I'-l-bl-}

AEEEEEEEEEEEEEE .

<
-
#
(

AApARERaRRpRRRLLRR

D32

2 ) How many closed curves did you draw 7

(3 st ddEbssdnidindbaadandenann - BRI RS RS p A BT E N

b ) How many stars remained outside the closed curves ?

B SRR R - YA TIETTIIT BB EEEE

okl gledoll @
e (o s

E—

SR E S SRS AR RAR RS SRR AR SRR RS RS R R AR AR RARRAARRRR AR AR

R R R RN
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TLLLLL RS
by The Meter and the Centimeter
.

.
&1 meter = 100 Centimeter
:JMJ—‘
!ﬂﬂmﬂun.uum+"“man
ﬁﬂlﬂm-","m" vrrneedl)
Eﬂﬂnn-mmm“m#mmn
::d- ]m T

L1
::’ ] m -ll-llll i e l+ll-l-i|-p-J

Ly
Eg
L]

L]

1 meter and 75 centimeters = 100 + 75 = 175 centimeiers

ittt alal ot alat gt at ot l N N e

pammenn

|

::I.}hdm e ppa— P T T T PR R R LR L LR =+ CH0
Lm

::b ]hﬁm L T —————— e S TP TP SRS S R R
L}

::: }hﬂ‘sm-.[1+| P —— T
LA
::d YA BCIE 5. oo crnrimmrsri s st st an et S

L

-
« =TT
LY
‘I..] hd lh W iiiiniadbmiaia i dbEdaedEbdstdiatdssteniane m m
:I]hd h o T ——— e e e L Ty e Y S I ] A |pq+m

"
‘\.l. } h d :m #1--1------ e L LR R LI LT R T L L R e pl[H-m

oasksillgledall J\j)

wiw. e XAarm-eg.com 'J-u
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\

L e R L
E t e_name of the solid : - ‘

3 a) Whose faces are all squares 7.........coooveieiiinneeoeiiiesiinn,
LS

. b) Whose faces arc all trangles 7 .......cvveeivevivinensnnnnssssssnns
",

E ¢ ) Whose faces are all rectangles 7 ....covevvieiiinennismmisnncsson
: d ) That has 2 bases in the formoratriangle 7 ....cccoveemcieennnninns
()

o ©)Thathas | circular base and 1 vertex 7 .....coouesinssnsusssassans
"

: f}m m; mm?'Ill+Ili"l"lllliiilill‘++il++ill++!l!f"fll"lll!-
.

"

+_2) Complete : -

Py

?}Mmh&hu eenssresssssesss FOCES, cach face in the ﬁ:nnnl’
'y

:hrﬂnhuaMEMEMﬂnﬁmnﬂ‘ ......................
E-:]T‘hl:tyllndc:rI:uu....u....u:hnnuhﬂufwmnt':hﬂu

-

::d}‘l'huhpu\\ iscalled ......oosssensunens TR

-

"

£) The Triangular prism has ................. Faces

csasl=iloleciall

S e e e s e e ne 8 a8 8888 TN ERATRN SN ‘f'q‘fﬁ?ﬂ'

AESAEEEAREER SRR R R RS

LR R R R R R N N N Y Y Y Py

%

22

’“7"
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. The solids and the shapes

LS

N and correct name under each shape or
e
isqunw:qﬂldumhlﬂc:irﬂtﬂhtlbﬂpmﬁdﬂl!

A0

sEmnaREd eSS B EREmEE SRS

e e e L N N e Y Py P P R N T T R R R P R R R R LR L R R Ll

— O AAﬁ

sesminmEFisaRTT IR

R
S BB R SRR R SRR e T L P R LR L 5y Syl

]

L]

name vertioes | edges | Bases

F#!!F!!EJFJFF!J!FJF!EJ{!F!!!J!

'!JFE!}!JFF!JF!PEJFJFJJFJEFEJFFJPFﬁFFFFFJF;p;,FJJ”,’FJ,J.

5
.
¥
JAN
JAN

E

-

d=il{olecdall of

~dl dI—-ed. COT
aassnnenanecanaeans bl LU0 ;ﬁ__t‘ jﬂhhlﬂtﬂ &

BB RS R AR AR R R R AR AR
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Centimeters = 7 meters and 60 centimeters

L R
rEEmman
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E

LY LT
y
%I

L LR R L LR i1 ﬂﬂu o
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XS

e L L e L R -m d—u LR L LT e —
:hl 7gsem
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::= } w na

5 b
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q
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E
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2
i

450cm Im and 50cm
525¢m 4m and 25em

650cm S5m and 25cm

o al=Gisd.all
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